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+ if (runNo »>= 9947 && runNo <=10878 || runNo>= 27255 && runNo <= 28236 ||
Back : St f :
[ m_offsetCorr[i] = offsetCorr(i, charge, ptrk, cost);

m_sigmaCorr[i] = sigmaCorr(i, charge, ptrk, cost);

m chi[i] = (sep - m offsetCorr[i]) / m sigmaCorr[i];

}

if(fabs(m chi[i]) < chitemp) chitemp = fabs(m chi[i]);
double ppp = pdfCalculate(m chi[i],1);

if(fabs(ppp) > pdftemp) pdftemp = fabs(ppp);

DedxPID: :particleIDCalculation()::runllo = 56789 DedxPID: :particleIDCalculation()::runlo = 56792 DedxPID: :particleIDCalculation()::runho = 56792
DedxPID: :particleIDCalculation()::i = @ DedxPID: :particleIDCalculation()::1i = @ DedxPID: :particleIDCalculation()::i = @

DedxPID: :particleIDCalculation()::m_chi[i] = -2.48537 DedxPID: :particleIDCalculation()::m chi[i] = -3.48899 DedxPID: :particleIDCalculation()::m chi[i] = -4.74392
DedxPID: :particleIDCalculation()::sep = -2.48537 DedxPID: :particleIDCalculation()::sep = -3.48899 DedxPID: :particleIDCalculation()::sep = -4.74392
DedxPID: :particleIDCalculation(): :m offsetCorr[i] = @ DedxPID: :particleIDCalculation()::m_offsetCorr[i] = @ DedxPID: :particleIDCalculation(): :m offsetCorr[i] = @
DedxPID: :particleIDCalculation()::m sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1
DedxPID: :particleIDCalculation()::runlo = 56789 DedxPID: :particleIDCalculation()::runlo = 56792 DedxPID: :particleIDCalculation()::runko = 56792
DedxPID: :particleIDCalculation()::i = 1 DedxPID: :particlelDCalculation()::1i = 1 DedxPID: :particleIDCalculation()::i = 1

DedxPID: :particleIDCalculation()::m chi[i] = -1.29414 DedxPID: :particleIDCalculation()::m_chi[i] = -2.95887 DedxPID: :particleIDCalculation()::m_chi[i] = -4.65567
DedxPID: :particleIDCalculation()::sep = -1.29414 DedxPID: :particleIDCalculation()::sep = -2.95887 DedxPID: :particleIDCalculation()::sep = -4.65567
DedxPID: :particleIDCalculation(): :m offsetCorr[i] = @ DedxPID: :particleIDCalculation()::m offsetCorr[i] = @ DedxPID: :particleIDCalculation(): :m _offsetCorr[i] = @
DedxPID: :particleIDCalculation()::m sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m _sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m _sigmaCorr[i] = 1
DedxPID: :particleIDCalculation()::runlo = 56789 DedxPID: :particleIDCalculation()::runlo = 56792 DedxPID: :particleIDCalculation()::runNo = 56792
DedxPID: :particleIDCalculation()::i = 2 DedxPID: :particleIDCalculation()::i = 2 DedxPID: :particleIDCalculation()::1 = 2

DedxPID: :particleIDCalculation()::m_chi[i] = -1.9659 DedxPID: :particleIDCalculation()::m_chi[i] = -3.87126 DedxPID: :particleIDCalculation()::m_chi[i] = -4.6269
DedxPID: :particleIDCalculation()::sep = -1.98227 DedxPID: :particleIDCalculation()::sep = -2.@7126 DedxPID: :particleIDCalculation()::sep = -4.71282
DedxPID: :particleIDCalculation(): :m offsetCorr[i] = -©.0488712 DedxPID::particleIDCalculation()::m_offsetCorr[i] = @ DedxPID: :particleIDCalculation()::m_offsetCorr[i] = -©.0859271
DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1.01862 DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1
DedxPID: :particleIDCalculation()::runNo = 56789 DedxPID: :particleIDCalculation(): :runlo = 56792 DedxPID: :particleIDCalculation(): :runNo = 56792
DedxPID: :particleIDCalculation()::i = 3 DedxPID::particlelIDCalculation()::i = 3 DedxPID: :particleIDCalculation()::i = 3

DedxPID: :particleIDCalculation()::m chi[i] = -6.26253 DedxPID: :particleIDCalculation()::m chi[i] = -4.45551 DedxPID: :particleIDCalculation()::m _chi[i] = -5.06013
DedxPID: :particleIDCalculation()::sep = -6.26253 DedxPID: :particleIDCalculation()::sep = -4.45551 DedxPID: :particleIDCalculation()::sep = -5.86013
DedxPID: :particleIDCalculation()::m_offsetCorr[i] = @ DedxPID: :particleIDCalculation()::m_offsetCorr[i] = @ DedxPID: :particleIDCalculation(): :m_offsetCorr[i] = @
DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1
DedxPID: :particleIDCalculation()::runho = 56789 DedxPID: :particleIDCalculation()::runNo = 56792 DedxPID: :particleIDCalculation()::runlo = 56792
DedxPID: :particleIDCalculation()::i = 4 DedxPID: :particleIDCalculation()::i = 4 DedxPID: :particleIDCalculation()::i = 4

DedxPID: :particleIDCalculation()::m _chi[i] = -0.927364 DedxPID: :particleIDCalculation()::m chi[i] = -8.627988 DedxPID: :particleIDCalculation()::m_chi[i] = -1.@7277
DedxPID: :particleIDCalculation()::sep = -7.12653 DedxPID: :particleIDCalculation()::sep = -4.93609 DedxPID: :particleIDCalculation()::sep = -5.12897
DedxPID: :particleIDCalculation()::m offsetCorr[i] = -6.19917 DedxPID: :particleIDCalculation(): :m offsetCorr[i] = -4.30818 DedxPID::particleIDCalculation()::m _offsetCorr[i] = -4.8562
DedxPID: :particleIDCalculation()::m sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1
pp: pp: PR
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® Do a test use the filtered / - ~ © = data, we try two PID
method: one 1s use dedx and Tof, and another is only use dedx.

probPH_p:pp {probPH_p<5000&&npm_pbar==0} probPH_p:pp {probPH_p<5000&&npm_pbar==0}
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Back Up: Study of ™

® Do a test use the filtered / - ~ © = data, we try two PID
method: one 1s use dedx and Tof, and another is only use dedx.

DedxPID: :particleIDCalculation(): :runlo = 56788 DedxPID: :particleIDCalculation()::1 = @ DedxPID: :particleIDCalculation()::runNo = 56789
DedxPID: :particleIDCalculation()::1 = @ DedxPID: :particleIDCalculation()::m chi[i] = -2.94943 DedxPID: :particleIDCalculation()::1i = 8
DedxPID: :particleIDCalculation()::m chi[i] = ©.245249 DedxPID::particleIDCalculation()::sep = -2.94943 DedxPID: :particleIDCalculation()::m chi[i] = -2.52511
DedxPID: :particleIDCalculation()::sep = ©.245249 DedxPID::particleIDCalculation()::m offsetCorr[i] = @ DedxPID: :particleIDCalculation()::sep = -2.52511
DedxPID: :particleIDCalculation(): :m_offsetCorr[i] = © DedePIR: -particleiDCalciilats .- i i = DedxPID: :particleIDCalculation()::m_offsetCorr[i] = @
& ::particle alculation()::m sigmaCorr[i] = 1 p e
gegxgig: :par?c;eiggaicuiai?onéi: :m_S;gmaC;ggi[;;] =1 DedxPID: :particleIDCalculation()::runlo = 56788 DESXPID::Part}CiEIDCaicu}at}O"E;: :m_sigmaCorr[i] = 1
eax siparticle alculation()::runho = DedxPID: :particleIDCalculation()::i = 1 DedxPID: :particlelDCalculation()::runNo = 56789
DedxPID: :particleIDCalculation()::i = 1 DedxPID: :particleIDCalculation()::m_chi[i] = -2.54921 DedxPID::particleIDCalculation()::i = 1
DedeID::part%cleIDCalculat?on()::m_chl[l} = -B.620154 DedxPID: :particleIDCalculation()::sep = -2.54921 DedeID::part%cleIDCalculat%on()::m_chi[i] Sl T BT
DegxPID..part%cieIDCa}cuiat?on()..sepf: _@'6291?4 DedxPID: :particleIDCalculation()::m offsetCorr[i] = @ DedeID::part%cleIDCalculat%on()::sep = _3'1385?
gedxgig::par:%cleiggalcula:?onég::m_o. seECorEgij_:le DRIl s phit e lenCa il st ion ) on s ipnatorrfi] = A DedeID..part%cleIDCalculat?on()..m_offsetiorrgl] =@
DedXPID: :Part%ClEIDCalculat?—Ono::m_S;gma ‘;g;g; = DedxPID: :particleIDCalculation(): :runlo = 56788 DedxPID: .par“t%cleIDCalculat%on(). :m_sigmaCorr[i] = 1
DedeID..part%cleIDcalculat?on()..run 3 - DedxPID: :particleIDCalculation()::i = 2 Bejxgig..par:%cieiggaicu}aifcn()..TunNg = 2Rt
edxPID: :particleIDCalculation()::i = : ; S 5 T
DedeID"particleIDCalculation()"m chi[i] = -2.18988 DedxPID: :particlelDCalculation()::m_chili] = -2.90835 DedXPID"part%cleIDcalculat?on()"1 hi[i 3.35837
DedeID::EarticleIDCalculation()::s;p o ;369i DedxPID::particleIDCalculation()::sep = -3.07141 DZdiPID::DZ:t;ElZIDCZIZEIZtiz:E;:::;c i[li éﬁég-

o ; : o : : DedxPID: :particleIDCalculation()::m offsetCorr[i] = -0.163864 Spart . sep = e .
DedxPID: :particleIDCalculation()::m _offsetCorr[i] = ©.90584 ey T i o . c e DedxPID::particleIDCalculation()::m offsetCorr[i] = -0.50047
DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1.8914 i Bl Ll }on().,m_51gma aerfa] = DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1.00357

. : : il _ DedxPID: :particleIDCalculation()::runNo = 56788 E : -

DedxPID: :particleIDCalculation(): :runNo = 56788 ; s : DedxPID: :particleIDCalculation()::runNo = 56789
DedxPID: :particleIDCalculation()::i = 3 DedxPID: :particleIDCalculation()::1 = 3 DedxPID: : particleTDCalculation()::i = 3

DedxPID: :particleIDCalculation()::m_chi[i] = -1©.8651 DedxPID::particleIDCalculation()::m_chi[i] = -5.45408 DedxPID: :particleIDCalculation()::m chi[i] = -5.64472
DedxPID: :particleIDCalculation()::sep = -10.8651 DedprD:5Part%51EIDC315U1at%0"C)11599 = -5-d54@§ DedxPID: :particleIDCalculation()::sep = -5.64472
DedxPID: :particleIDCalculation()::m offsetCorr[i] = @ DedxPID::particlelDCalculation()::m_offsetCorr[i] = @ DedxPID: :particleIDCalculation()::m offsetCorr[i] = @

o . - e : ] o DedxPID: :particleIDCalculation()::m sigmaCorr[i] = 1 o . : i B =7 =
DedxPID: :particleIDCalculation()::m_sigmaCorr[i] it DedxPID::particleIDCalculation()::m_sigmaCorr[i] = 1
DedxPID: :particleIDCalculation(): :runNo = 56788 DedxPID: :particleIDCalculation()::runlo = 56788 DedxPID: :particleIDCalculation()::runNo = 56789
DedxPID: :particleIDCalculation()::i = 4 DedxPID::particleIDCalculation()::1 = 4 DedxPID::particleIDCalculation()::i = 4
DedxPID: :particleIDCalculation()::m chi[i] = -2.16855 DedxPID::particlelDCalculation()::m_chi[i] = -1.79042 DedxPID: :particleIDCalculation()::m_chi[i] = -1.72333
DedxPID: :particleIDCalculation()::sep = -11.7614 DedxPID::particlelDCalculation()::sep = -5.83357 DedxPID: :particleIDCalculation()::sep = -5.83393
DedxPID: :particleIDCalculation(): :m offsetCorr[i] = 12.3837  DedxPID::particleIDCalculation()::m_offsetCorr[i] = -4.04315 DedxPID: :particleIDCalculation()::m_offsetCorr[i] = -4.1185
DedxPID: :particleIDCalculation()::m sigmaCorr[i] = 11.1342 DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1 DedxPID: :particleIDCalculation()::m_sigmaCorr[i] = 1
pp pp PP

npip:1 npim:2 npp:1 npm:® nKp:@ nkKm:@
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